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CERSEFEERE £%  (2018~) 2024.103R7F
MR 2t | 3B | mE | a-aS | BT 7 | BMS | &4t
Fi5 560.5|74.4|2.6(9.1{10.9
=8 |ZEH [EHEE| 569.3] 104 2.8/ 9.8 12| A-5
=8 |EEK (BT | 5737 98 2| 9.7 12| A-5
=8 |EZE% [ZEBA | 5834 91| 2.3| 9.3 12| A-5
=8 |HEL (BEF 624.6 80| 2.8 8.9 12| A-5
=8 |Z@A Xk | 546.5 99| 1.7| 10.2 12| A-5
=8 |ZE8%8 [ZBA| 5494 86 1.3| 10.2 12| A-5
=8 |ZR'A [BEEF | 561.1 86| 2.4 9.6 12| A-5
KB | FRKER | =EEB | 557.6 76| 2.8 103 12| A-5
=B | EER | @A | 5557 72| 24| 85 12| A-5
=8 | ZfEA | FikBE| 556.7 80| 1.6| 8.2 12| A-5
£B | iFRKEE | ZfBA | 508.6 68| 1.6 7.7 12| A-5
=8 | “EA| &F 568.3 70 42| 8.9 12| A-5
=8 | RBA [FXB 547.9 95 1.7 9 12| A-5
=B |REA [BAX 628.0 73| 24 9.6 12| A-5
=B |BEl |[&F 563.0 70| 2.6/ 105 12| A-5
=8 |REA |BEF 583.9 69| 22| 9.2 12| A-5
=8 | RBA [FXB 596.4 83| 23| 9.1 12| A-5
8 |REA |[BEF 659.0 69| 3.2| 95 12| A-5
=B |RBA |&F 531.5 73] 15| 93 12| A-5
=8 |RREA [EEH 497.5 68| 22| 9.6 12| A-5
=8 |BEF [&%F 562.1 63 3 9.8 12| A-5
=8 |REA [BAX 488.8 82| 22| 75 12| A-5
=B |RBA |[&F 499.9 83| 2.1 93 12| A-5
=B |REA |BEF 556.2| 104| 2.2| 10.7 12| A-5
=8 |RBA [FEB 511.1 72| 1.7 104 12| A-5
=8 |RBA [FEB 529.0 86| 25| 8.9 12| A-5
=B |RBA [BEAX 440.8 68| 1.9 8.2 12| A-5
=B |BREF [ZREA 615.8 86| 2.7 9.8 12| A-5
=8 |BAX |ZRA 477.6 63| 2.7| 8.4 12| A-5
E8 |BOT [EEks 525.6 56 3.3] 8.9 12| A-5
=B |BEE [REL 581.5 83| 2.8 104 12| A-5
=8 |BEIT [(BAX 580.5 68| 3.2| 9.8 12| A-5
=B |RBA [BEAX 571.7 91| 2.4 10.2 12| A-5
=B |RBA [BEAX 502.9 771 2.6/ 83 12| A-5
=B |RBA [BEAX 565.9 98] 13| 9.2 12| A-5
=B |FRKEE |ZEA 570.2 88| 1.8 8.7 12| A-5
=8 |RBA [FEB 613.9 84 4l 12 12| A-5
=8 |BEF [RF 553.2 68| 2.1 9 12| A-5
=B |EEE [XF 630.4 84 3] 12 12| A-5
=B |FRKER [BB5EH 610.0 94 33| 96 12| A-5
=8 |BEk [BB5%EH 6198 90| 1.4 10.2 12| A-5
=B |RBA [BEAX 534.4 79 2.0 8.0 12| A-5
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=8 |EEHK [BEX 524.2 94 1.4| 10.6 12| A-5
=8 |EE#K [BEX 624.1| 110| 1.7| 10.2 12| A-5
=8 |exT |[BHAX 93| 22| 93 12| A-5
=8 |LRBA |&F 529.5 771 2.6/ 8.3 12| A-5
=8 | EEK [BFER 587.7 86| 1.9 93 12| A-5
=8 |BEF |24 E 636.2 72| 39| 103 12| A-5
=8 |RRA [BEAX 582.4 86 3.1 9.8 12| A-5
=8 |BEF [FIXB 568.3 75 3.1 8.6 12| A-5
=8 | ZEK (BEAX 569.3 73] 2.2 8.7 12| A-5
=8 |RBA |[FIXE 663.9] 102| 2.4| 10.7 12| A-5
=8 |fLET [Fikks 587.3 80| 3.6/ 10 12| A-5
=8 | EEHK |[ZEA 519.4 73 28| 85 12| A-5
=8 |@@iE |[BEF 552.8 83| 24| 104 12| A-5
=8 |EEHK [BAX 576.6| 102| 2.3| 8.8 12| A-5
=8 |BEa% |ZREA 558.1 9 171 98 12| A-5
=8 |LRRA |&F 567.8 94 2| 9.7 12| A-5
=8 |EER [BEX 627.0 84l 28| 9.3 12| A-5
=8 |RBRA |[FIXE 525.7 771 23| 8.4 12| A-5
=B |RBEA [BEAX 481.5 79 19| 7.7 12| A-5
=8 |RBEA |[BEF 480.0 8ol 2.1 87 12| A-5
=8 |BEF [FXB 572.2 72 3.8 9.3 12| A-5
=8 |BEL [ZBA 533.9 98 3] 9.7 12| A-5
=8 |BAX |&F 523.2 73| 3.1 8.4 12| A-5
=8 |Ba% [E2E 632.3 75 2| 9.3 12| A-5
=8 |EEK [BEX 581.4 83| 22| 9.2 12| A-5
= [BEXEB [EZEH 663.9 90 2.3| 1038 12| A-5
=8 |BEa% |ZRA 549.8 82| 1.9 88 12| A-5
=8 |FEKEE [BAXK 523.2 71 2.1 88 12| A-5
=8 |BEF [ZEBA 638.2 73 3.1 9.7 12| A-5
=8 |RBEA [BEAX 546.5 84| 15| 9.4 12| A-5
=8 |BEX |ZBA 630.9 67| 39| 8.9 12| A-5
=8 |RBA (&% 551.3 92 1.8 9.6 12| A-5
=8 |BEa% [BEF 544.1 65 2.3| 83 12| A-5
=B |BEF [FE5ER| 6105 73| 3.7 11.6 12| A-5
=8 |EEK [BE7X 561.5 87| 1.6 9 12| A-5
=8 |BEF [2EBA 547.5 78 3] 85 12| A-5
=8 |EEK [BEX 563.5 86 3] 10.3 12| A-5
=8 |ZR@BA [BEX 571.8 81| 2.6/ 8.3 12| A-5
=B |HEL [BEF 535.4 56 4.2 10.3 12| A-5
=8 |RBA (&% 596.4 90 2.5 9.4 12| A-5
EB8 |BEX |XRA 505.8 81| 2.9| 9.3 12| A-5
=8 |RBA |[BEFE 579.9 8ol 19| 87 12| A-5
=8 |RBA |FIXE 603.3| 104| 1.8/ 95 12| A-5
=8 |RBA |FIXE 580.0 70 1.6] 88 12| A-5
EB8 |BEX |XRA 636.8 78] 2.1] 8.9 12| A-5
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=8 |RRA [BEAX 516.4 88| 1.9 9.4 12| A-5
=8 |BEF |[REA 572.7 791 23] 76 12| A-5
=8 |HEL [BEF 589.6 72 29| 95 11| A-5
=8 | EEK [BEF 562.0 64| 1.8 8.7 11| A-5
=8 | EEHK [FicH 583.4 84 2.6 10.7 11| A-5
=8 |EER &R 555.3 74 3] 95 11| A-5
=8 |RRA [BEAX 574.1 81| 29 7.3 11| A-5
=8 | EEK TR 546.5 69| 3.1 9.3 11| A-5
=8 |BEF (&= 613.9 83 2| 10.7 11| A-5
=B |BEF [FE5ER|  556.2 69| 2.3| 10.1 11| A-5
=8 |RBA |[FIXE 592.6 64| 28| 95 11| A-5
=8 |RREA |[BEF 562.1 68| 3.3 8.7 11| A-5
=8 |BEF (=R 524.2 64| 3.5/ 9.2 11| A-5
=8 |LRRA |&F 541.2 711 22| 91 11| A-5
=8 |FBITLE|FHE 516.9 78 2.4 9.7 11| A-5
=8 |RRA |[BIXE 535.8 65| 3.8 9 11| A-5
=8 |BEF [BAIX 582.4 78 3] 9.3 11| A-5
=8 |BaE [BXB 518.8 58| 3.2| 8.8 11| A-5
=8 |RBRA [Tk 563.0 76| 3.4 87 11| A-5
=B |BEL (&% 597.9 73| 2.7 9 11| A-5
=8 |2E [BEIX 516.9 57 23| 8.2 11| A-5
=8 |BEF [Tk 628.9 741 36| 8.7 11| A-5
=B |RBEA [BAX 535.8 65 2| 6.8 11| A-5
=8 |BaX [Tk 548.4 66| 3.2 8 11| A-5
=8 |BEF (=R 593.0 63| 3.4 9.3 11| A-5
=8 |BEF |2R1E 630.0 84| 2.8 103 11| A-5
=8 |EERE (BRE 597.9 70 2.4 9.7 11| A-5
£ (BEE [tET08 581.9 65| 3.1 9.2 11| A-5
£ |BEE [2BA 541.7 57 3.8 9 11| A-5
=8 |EEK [BE¥ 566.4 90| 1.8 93 11| A-5
£8 |L@A |amEssny  546.1 41 3.1 9.3 11| A-5
=8 |BEF [F5%E 511.1 56 3.4 9.8 11| A-5
£=8 |LRA |[tET08| 597.4 87| 1.4 9 11| A-5
=8 |BEF [Tk 587.2 76| 3.8 8.9 11| A-5
=B |RBEA |[BEF 563.5 68| 2.6/ 9.3 11| A-5
=8 | =B K |BEF 528.5 59 2.9 9.8 11| A-5
=8 |EERE |[REBA 613.0 76| 3.8 9.8 11| A-5
=8 |B5EX (&% 570.8 64| 3.4| 10.1 11| A-5
=8 [FFARER [EEK 569.8 86| 2.7 9.1 11| A-5
=8 | ZEK |BEIX 566.7 65 2.9/ 10.8 11| A-5
=8 |R@/A [BEFE 585.8 87 2.4 10.2 11| A-5
B [FRKREE [RBA 455.3 76| 1.3] 6.5 11| A-5
=8 | ZEKR [BER 593.1 67 3.1 8.6 11| A-5
=8 |BEFE [REBA 542.6 66| 2.9| 87 11| A-5
=8 |B2E |[ZEA 541.7 62| 3.2| 9.3 11| A-5
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L BED
=8 |BEF (&= 494.1 58 2| 88 11| A-5
=5 |=EK [EEL 551.3 88| 24| 88 10| A-5
=8 |LRBA |&F 556.2 68| 3.5 8.3 10| A-5
=B |RRA |[BEF 464.0 8o 22| 7.9 10| A-5
=58 |BEF [FE5ER| 5402 58 2.5 8.4 10| A-5
=8 |RRA |[FIXE 483.0 66| 2.6/ 8.8 10| A-5
=8 |Ba% [Tk 483.9 54 19| 8.7 10| A-5
=8 |BEa% |ZRA 626.0 84| 35| 9.4 10| A-5
=8 |5a5E |REA 550.8 84| 25| 88 10| A-5
=B |RRA R 638.2 78] 2.8 9.4 10| A-5
=8 |BEF [£5%E[ 586.8 60| 3.2| 8.3 10| A-5
=8 |BEF (RF 565.0 67| 3.4 8.3 10| A-5
=8 |BEF (4R 622.2 66 3] 95 10| A-5
=8 |BEF [RBA 505.8 61| 3.1| 8.4 10| A-5
=B | REBA [Tk 516.9 61| 1.5/ 8.8 10| A-5
=B |FREEHBELT 541.2 70l 23] 88 10| A-5
=8 |EER |[REA 549.2 60| 1.8 8.6 10| A-5
=B |RBA [BEX 562.0 95 1.2| 8.7 9 A-5
=8 |&F |[FEB 621.2 62| 3.2 9.1 9 A-5
=8 |RBRA |[FIXE 583.8 69| 23| 85 9 A-5
=B |RBEA |[BEF 560.0 77( 171 9.2 9 A-5
=8 |&=RE [Tk 560.1 55| 2.8 8.8 9| A-5
=8 |BEL (24 E 601.8 59| 3.1 95 9| A-5
=8 |EER [BAX 394.6 69| 2.6 7 9| A-5
=8 |EXKEE [BAXK 652.3 65| 3.7 9.8 9| A-5
=8 |21 E (&% 602.7 68| 2.1| 8.9 9| A-5
=8 |AEBL [BEX 559.1 63| 2.6/ 8.8 9| A-5
=8 |EEK [BEX 528.0 66| 2.2 8.7 9 A-5
EB |EER |BAIX 656.1 72| 1.9| 9.7 8| A-5
=8 | EEK [BEF 509.6 65| 1.8 85 8| A-5
=8 |BEF [2EBA 497.0 59| 25| 7.8 8| A-5
=8 |BLFE (HeRE 477.6 58 3.4 8.2 8| A-4
=8 |Ba% |E2E 498.9 63| 27| 7.8 8| A-5
=8 |EEXE [Pk 522.3 58| 3.6 7.8 8| A-5
=8 |BEX |RF 527.5 53 41 8.2 8| B-5
=B (KFE (BERT 559.6 63| 2.1 8.2 8| A-5
=8 |RBEA |FiXk 484.0 57| 2.6 8.6 8| A-5
=8 |R@/A [BEFE 584.3 65| 2.5/ 8.9 7| A-4
=8 |RBA |FIXE 581.0 62| 3.1| 8.7 7| A-4
£ |BEX | XRA 593.5 68| 3.3 88 71 A-4
=B |BEF [kt H| 591.2 69| 3.0 8.2 7| A-4
=58 |&R B 526.2 59 3.2 8.3 7| A-4
=8 |EEK (&% 559.6 57 2.8 8 7| A-4
=8 |B5EX |ZBA 507.7 63| 3.1| 9.7 7| A-4
£ |LRE |[FKkE 605.7 60 3.2 7.8 6| A-4
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E8 K [fREL 465.5 b5 2.6 1.2 6| A-4
E=3 [BEX LA 568.3 56| 4.6 8.1 6| B-4
£ |ZRBA |[FRE 554.3 61| 22| 84 5| A-3
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